
INSTALLATION GUIDE
SETVSP

 Support 32" to 65" Screen Size
Max Load Capacity: 110lbs (50 kg) Per Screen

VESA  100x100mm / 400x400mm compatible

User′s Manual



Page 2 of 4

Parts list

X1

X1
M5X15 M6X15 M8X25 Ø16XØ6.2X1.5 Ø16XØ8.2X1.5 Ø13XØ8.2X13

X4 X4 X4

A1 A2 A3 A4

X4

M8X45

X4

A5 A6 A7

X4 X4

X4 X8 X4 X4 X4 X4
B1 B2 B3 B4 B5 B6

M8x10M8 Ø16XØ8.2X1.5 Lag bolt Anchor 5mm&6mm

X1(Each)

Open-wrench

480mm 400T

D1 D2 D3 D4 D5 D6 D7 D8 D9

X1 X1 X2 X1 X1

M5

X2 X2 X1 X1
1500mm

PRODUCT DIMENSIONS

Ø615mm [Ø24.2"]

Ø46mm [Ø1.8"]

Ø8.5mm [Ø0.3"]

φ8.2mm [φ0.3″]

40
0m

m
 [1

5.
7″

]

12
0m

m
 [4

.7
″]

φ50mm [2.0″]

15
17

m
m

 [5
9.

7″
]

430mm[16.9″](Max)
490mm [19.3″]

15
5m

m
 [6

.1
"]

5m
m

 [0
.2

"]

Rubber pad



6

6 mm

D8

Page 3 of 4

B5

B2

B3

B3

B4

Optional installation

INSTALLATION INSTRUCTION
1 2

2

D6

D6

D1

B1

  5 mm

B2

D4

7 8

A6

A7
A5

4

5
  5 mm

A1+A4 or
A2+A4 or A3

D4



Page 4 of 4

3

D7

Cable Management WIRE


